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FASTAWA

EXPLORING CHEMISTRY STAGE 2

Chemical Reactions

Set 14

1. a) n(COs) = % n(CsHyp)

=§xl.ﬂﬂ
2

= 4.00 mol

b)  n(H0)= %“{Cﬂ‘[uﬂ

=5x3.00
= 15.0 mol

O nOy= % n(CiHio)

=7.5x 0,600
=4.50 mol

2. a) n(HNO;) = 2n(Mg0O)
=2 x0.0300
= (0.0600 mol
m{HNO) = 0.0600 x 63.018
=378¢

b)  n(Mg(NO;3)) = n(MgO)
=0.0300 mol
m(Mg(NO3);) = 0.0300 x 148.33
=445¢

3 a) n{AgNGs) = n(AgCl)
=0.200 mol
M(AgNO;) =0.200 x 169.91
=340¢g

b} n(CaCls) = Y2 n(AgNOs)
=13 x 0.200
=0.100 mol
M{CaCis)=0.100 x 110,98
=1l1g

c) n(Ca(NO3):) = Y2 n(AgCr)
=15 x 0.200
= (L1000 mol
M(Ca(NOs):) =0.100 x 164.1
=164 g



o 3.14
a) n(CuS0,.5H,0) = 24960
=(.01257 mol
n(H-50y) = n(CuS0,.5H-0)
=0.01257 mol
m(H,50y) = 0.01257 x 98.076

= 123¢

b) n{Cu0) = ni{CuS04.5H:0)
= 1.26 x 10 mol

a) 2KCI03 — 2KCE + 302

b) n(0y) = %II{KC fOs)

= 1.5 x 0.800
= 1.20) mol

2HgO(s) — 2Hg(s) + Ox(g)
N(O,) = %2 n(HgO)
=2 x 0.240
=(0.120 mol
M{0.) = 0,120 x 32.00
=384 ¢

3.00
100.09
=2.997 x 10” mol
N(HNO;) = 2 n(CaC03)
=2 x(2.997 x 107
=5.99 x 107 mol
M(HNO:) = (5.99 x 107) x 63.018
=378 ¢

i) n(CaC0Oy) =

b n(CaCOs) = n(CO-)
=2.997 x 10” mol
M(CO,) = (2.997 x 10°7%) x 44.01
=132¢

c) n(Ca(NO3)2) = n(CaCOs)
=2.997 x 10" mol
M(Ca(NOs):) = (2.997 x 107) x 164.1
= 492 g

T7.5x1000

270.0
= 27.8 mol

a) n(UO;) =



10.

b)

c)

i)

b)

c)

b)

N(HF) = ¥4 n(UQ4)
=14 x 27.8
= 6.94 mol
M(HF) = 6.94 x 20.008
= 139 g

n(F2) = n(UO,)
= 27.8 mol

M(F,) =27.8 x (2 x 19.00)
=1.06x 10" g

I'I{UF.:,} = D{UD]}
=27.8
M(UFg) = 27.8 x 352.0
=979x10° ¢

23.4 .
m(ALO;s) = o0 (2.50 x 106)
=585x10° g
5.85x10°
101.96
=5.74 x 10* mol
I'I{ﬁl] =2 D(!"&lzoj}
=2x(5.74x 109
= 1.15 x 10* mol
m(Al) = (1.15 x 10") x 26.98
=3.10x10° g
n(0s) = 3/2 x n(ALOs)
=1.5x(5.74x 10%)
=8.61 x 103 mol
m(0;) = (8.61 x 10%) x 32.00
=275x 100 g

Il{ A 13{_}3} =

92.0
100.0

=460x 10° g
4.60x10°

10009

=4.596 x 10° mol
N(Ca0O) = n(CaC03)

=4.596 x 10° mol
M(Ca0) = (4.596 x 10°) x 72.08
=331x10°g

m(CaCO;) = X (500 x 107)

N(CaCO;) =

n(COs) = n(CaCOs)
=4.596 x 10° mol
M(CO;) = (4.596 x 10°) x 44.01
=202x10° ¢



